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Selleck’s Shades sells designer sunglasses. This successful
business is run as a partnership, owned by Richard and Robert
Selleck.

(a)

(i)

(i)

Selleck’s Shades benefited from financial help from the government when Richard
and Robert set up their shop. State  one form of financial help offered to
businesses by the government.

(1]

Explain one advantage and one disadvantage to Richard and Robert of running
Selleck’s Shades as a partnership.

Advantage

Disadvantage

(4]

Richard and Robert want to expand the business by opening another shop in the
local area. State and explain  two factors they need to consider before deciding
where to locate their new shop.

Factor 1

Factor 2

(4]
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(ii) State and explain two social benefits to the local community of Richard and >

Robert opening a new shop.

Social benefit 1

Social benefit 2

[4]

(c) Richard suggests to Robert that instead of expanding the business by opening another
shop, they should consider a merger with their main high street rival, Funky Frames.

(i) Identify the type of merger Richard is suggesting.
[1]

(ii) Advise Robert whether or not he should agree to a merger with Funky Frames.
In your answer you should explain the advantages and disadvantages to Selleck’s
Shades of a merger with Funky Frames.

[8]
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*(d) Richard and Robert are deciding whether they should start selling other products, such
as watches, in their shops as well as sunglasses. To help them make a decision, their
Finance Manager provided them with the information shown in Fig. 1 and Fig. 2 below.

Selleck’s Shades % increase in household spending
Value of sunglasses sales in the UK
1,400,000 @ 7%
1,200,000 S 6%
« 1,000,000 S 5%
& 800,000 S 4%
& 600,000 g 3%
400,000 o 2%
200,000 S 1%
0 Q& 0% . .
2000 2003 2006 2000 2003 2006
forecast forecast
year year
Fig.1 Fig.2

Using the data shown in Fig.1 and Fig. 2, advise Richard and Robert as to whether
Selleck’s Shades should start selling other products, such as watches, as well as
sunglasses. Give reasons for your answer.

[6+2]
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I Animageofa !
'computer has been
1 removed due to

: third party
|
|
|

U
2 O'Keefe Ltd makes and sells computers. The major shareholders in the *

company are the founders Mary O’Keefe and Craig Price.

1

I

(@) Craig has suggested to Mary that the company should change its riaht !
ownership from a private limited company to a public limited COPY I.g |
restrictions :

company. Mary does not agree.

(i) Explain one reason why Craig might want to change the business ownership from
a private limited company to a public limited company.

(2]

(ii) Explain one reason why Mary might not want to change the business ownership
from a private limited company to a public limited company.

(2]
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(b) Fig. 3 shows the internal organisation structure of O’Keefe Ltd.

Board of Directors
Managing Director
Human Resources Marketing Finance Administration Production
Manager Manager Manager Manager Manager
HR Assistants Marketing Finance Administration Production
Assistants Assistants Assistants Supervisors
Production
Workers
Fig.3

(i) Describe the main features of the organisation structure of O’Keefe Ltd.

[4]

(ii) Explain one problem employees of O’Keefe Ltd may have working within the
organisation structure.

(2]
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(c) O’Keefe Ltd has received a large order from the USA. It is said that the USA has a
market economy.

Explain what is meant by the term market economy.

[3]
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(d) Before accepting the order from the USA, the Finance Manager produced a cash flow
forecast to see how money would flow into and out of the business if the order were to

be accepted.

8

O’Keefe Ltd cash flow forecast for April, May, June and July 2006

April May June July
£ £ £ £

Income

UK Sales 200,000 200,000 200,000 200,000
USA Sales 0 0 0 750,000
Total Income 200,000 200,000 200,000 950,000
Expenditure

Materials 90,000 90,000 360,000 90,000
Wages 95,000 95,000 320,000 95,000
Transport 10,000 10,000 50,000 10,000
Administration 5,000 5,000 10,000 5,000
Electricity 5,000 5,000 20,000 5,000
Marketing 5,000 5,000 5,000 5,000
Total Expenditure 210,000 210,000 765,000 210,000
Net Cash Flow —10,000 —-10,000 —-565,000 740,000
Opening Balance -50,000 —60,000 —70,000 —635,000
Closing Balance —60,000 —70,000 —635,000 105,000

Fig. 4
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(i) Use Fig. 4 to discuss whether O’Keefe Ltd should accept the order from the USA.
You should make reference to the advantages and disadvantages of accepting the

order from the USA in your answer.

[5]

(ii) Table 1 below shows the forecast costs for April 2005 and how much the business

actually spent on these costs.

Table 1
Forecast Actual Difference
£ £ £
Materials 90,000 140,000 +50,000
Wages 95,000 150,000 +55,000
Transport 10,000 18,000 +8,000

Explain how Table 1 will affect the cash flow for O’Keefe Ltd. Suggest and justify

what action the business should take.

[6]
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(e) Read the following headlines from national newspapers and answer the question that

follows.
Headline 1 Headline 2 Headline 3
President of the USA .
orders American Computer prices
UK interest rates fall by 2%
firms to only trade .
to remain low compared to

with American

. last year!
businesses! y

Evaluate the possible effects on the sales of O’Keefe Ltd of the headlines above.

In your answer, you should explain why one headline might have a greater effect on
sales than the other headlines.

[6]
[Total : 30 Marks]
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If you use the following lined pages to complete the answer to any question, the question number *

must be clearly shown.
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